TRIPURA CHEMICAL SOCIETY
Chemistry Aptitude Test — 2022-23
Stage — II (For Class X)

Total Marks : 50 Time allowed : 1 hr. 30 min.

Instructions : Answer all the questions. There are 30 MCQ (1-30) in Group-A
having 1 mark each. Each MCQ has been provided with four options (a), (b),
(c) and (d). Shade the correct option with BALL POINT PEN in the appropriate
box in the answer-script. Multiple shading is liable to cancel the relevant answer
*0.25 mark will be deducted for each wrong answer. Group B contains 10
questions (31-40) having 2 marks each. Answer these questions in the space
provided in answer script.

1.

Group - A 1x30=30
Mohr’s salt, FeSO,.(NH,),S0,.6H, O isa:
(IR =T, FeSO,.(NH, ),S0,.6H,0 %)
(a) Basic salt (FINT 73) (b) Double salt ((7® 53)
(c) Mixed salt (e 771) (d) Acid salt (& =)
Lime water is a (5 & 257) -
(a) Clear solution of Ca(OH), (Ca(OH), 93 ¥z 43)
(b) Milky suspension of Ca(OH), (Ca(OH), €3 (SIS &3+)
(c) Clear solution of CaCl,(CaCl, 93 ¥R &3)
(d) Clear solution of CaCO,(CaCO, 97 TR 73I)
2AgBr(s) Sunlight | 2Ag(s)+Br(g) is an example of (3G Txizae 2&7)-
(a) displacement reaction (2if33% fferan)
(b) thermal decomposition (St Raie Rt
(c) combination reaction (FCIE RfZwa)
(d) electrolysis (S Rrame Rizrar)
Which compound shows incomplete electron octet ?
(B3 IR A 7o)l FreriG B el T 2)
(a) PH, (b) NH, (c) NO @ ccl,
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5. Which compound below contains both ionic and covalent bond in it?

(Aea @ AHT Ty SECAE € FANHIG, Tox I ACACL?)

(a) CaC, (b) NaH (c) ALO, (d) AICL,
6.  Which metal is present in the blood of prawn ?
(TR e @ 4Ip ICACR?)

(2) Aluminium (SUERAAN)  (b) Magnesium (SICAEET)
(c) Copper (1) (d) Zinc (w81)

7. The main ore used for the extraction of iron is
(T e &) 3T QYA FRIB =1)-
(a) Haematite (fZ%5125) (b) Calamine (INAE)
(c) Bauxite (I3NZB) (d) Cryolite (FICHETRG)

8.  The main purpose of roasting and calcination are to convert
(TR 8 SHFACR [ I 28 —)
(a) ore into oxide (TFEF (AT SHIZG)
(b) ore into metal (TRFRF (AT 4Y)
(¢) ore into metallic carbonate (TNFEF (AT 4G FILE)
(d) none of these (L )

9.  Which compound is known as carbolic acid ?
(@ 1ift e Spifre Jies 7o 2)
(a) Phenol ((Z+%T) (b) Benzene (&)
(¢) Vinegar (fsfRaiz) (d) Chloroform (GFITa)

10. Which acid forms white fume in wet air ?
(I e =i Igrs At (i B IR ?)
(a) Hydrochloric acid (RRTGIFIEE SifF©)
(b) Nitric acid (F’2%z wifFre)
(c) Aceticacid (Suiffoe wife)
(d) Sulphuric acid (FFFERT wHifFE)
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11.

12.

13.

- 14.

15

16.

~ (a) carbon FER)

Which organic compounds are used to prepare bakelite ?
(R TERUTsafE T=Ls Afors IR I 20 ?)

(a) Formaldehyde + Phenol (FIMAGZIZG + (Feer)

(b) Acetaldehyde + Phenol (SHFHRIERIZG + (wee)

(c) Formaldehyde + Chloroform (FIpEfeRIRG + @A)
(d) Acetaldehyde + Pyridine (SHifPibtafezize + f#if2fe)

A nonmetal used to preserve food materials is

(ADEY AHT! G2 YIS JITS W) -

(b) phosphorous (FHFIT)
(d) nitrogen (FIZGITS)
Which of the following carbon allotropes is amorphous ?
(D IR SfATereR Feirew )

(a) Diamond (37%) (b) Fullerenes (FTARTT)
(c) Graphite (21FIZF) (d) Lampblack (geIfe)
Which is known as philosopher’s wool ?

(Fw7 @ A iR Be ey wfioRe warzwe)

(a) MgO () ZnO (c) ZnS (d) ZnCO,

(c) sulfur (FEFTFR)

What is the amount of oxygen in NaOH in percentage ?

(NaOH (TTst B=ife Sus ezt «{ffwe =) -
(a) 40 (b) 16 (c) 8 (@1
Bleaching powder is used in water treatment for -
(Bifox =1%ot s A eIt ) -
(a) Make water tastier (SFR % 3% 2)
(b) Remove all the dirt from water (STFR ST [AGS TH)
(c) Make water germ-free (51 SRINTE 27)
(d) Make water clear (&1 *if3%17 =)
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17.

18.

19.

20.

21.

22,

23.

t

Which of the following does not form an acidic salt ?
(A5 @ SfHH 7137 TR PR ) -

(a) Phosphoric acid (F97%R% <ifTe)

(b) Carbonic acid (I~ =pifsrs)

(c) Hydrochloric acid (ZRTGIFIR wiifFe

(d) Sulphuric acid (e i)

Number of hydrogen atoms present in 1, 3 butadiene.

(1, 3 RTBICEA STe ToifFs QRGITSH #7097t 267) -
@4  ©®F6 © 7 @8
Which compound has both oxidising and reducing property.
(A3 @I A wRet @ R Tow g @) -

(a) HS (b) SO, () H,SO, (d) SO,

In which compound sulphur has minimum oxidation number.
(RI57 @I IS AETHR TS SRR MR ? )
(a) HS (b) SO, (c) SO, (d) H,S0,

Which element was called as Eka Boron by Mendeleev ?
(PR GTEHL (NCSfeTe Gb1-caRe =i fweafReew)

(a) Scandium HHEAN) (b) Galium (s5ifE=IN)
(c) Germenium (SRTIAN)  (d) Silicon (Fife)
Which one is not a noble metal ? (|53 (0 7 L 7 ?)
(a) Gold (GT1t) (b) Silver (F=it)

(c) Platinum (25if6=1s) (d) Iron (TR

Which compound is not polar ‘7 (A5a @i (i F AT T 2)
(@ SO, (b) NH, () HO @) Co,
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24.

23,

26.

27.

28.

29.

The atomic number of elements A, B and C are 10, 13 and 17
respectively. Which one will form cation ?

(A, B, C oAb (TR #1791 % IAGEW 10, 13 G3R 17 - G T
IR IO ol FAE?)

(@ A (b) B

(c) C (d) None of these (@B 7F)
Which ion has lowest size ? (P9 STF6 WA FAIHTH (2B) -
(a) N3 ®F (9 0’ (d) Na*

Presence of which compound will make water hard ?
(S57 D GPITe oo ATD! 2 F(A?)
(a) Na,SO, (b) NHNO, (c) MgSO, (d) KCl

Which element of group 14 does not show catenation ?

(25%i-14 @7 (T GNEBT BT «f (73 2)
(a) Silicon (Fife=) ~ (b) Germanium (SIFTIIN)
(c) Carbon (I4w) (d) Lead (R)

Which isotope of hydrogen is radioactive ?

(RAGITER (@ HRAGIAS (o2 2)

(a) Protium (c&lifoa) + (b) Deuterium (TICHRA)
(c) Tritium (Gfoa) (d) Both (a) and (c)

What colour changes do you observe when an iron nail is dipped in
zinc sulphate solution ?

(TR &3 AFCFS 90 BT B 6 @2 3 ARTS it

]I ?)

(a) Blue to green (M (T )

(b) Blue to colourless (I (T3 I2)

(c) Green to colourless (& (AT ITA)
(d) No change in colour ((FIN {3 ZZ=1)
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30.

31.

32.

+33.

Washing soda is added to laundry soaps because
(ST GG T IHR IS IJITS W ) -
(a) Itincreases the hardness of soap. (b ARICAR 4T 3f& FCR)
(b) It increases the cleaning power of soap.
(S AR ~AFFR TR FIS! ITA)
(c) It helps in removing any hardness present in water.
(ft SR ATSII T FACS A R
(d) None of the above. (@R W)

Group-B 2x10=20

A white coloured powder is used by doctors for supporting factured
bones.

(a) Write chemical name and formula of the powder.

(b) When this white powder is mixed with water a hard solid mass
is obtained. Write balanced chemical equation for this change.

(T (oS! TR & BRI I (AT AW W1 T FEA |

() A AT I 6 TS N | (%) 9% At il 1ot ot Gt
O R A 2 wAheT T | ¥ RSB Afre e o )

What is meant by amphoteric oxides ? Choose the amphoteric oxides
from the following : L‘

- (TR TR IS & RN N TRvef (Ars Toed swRvefite

A FR)
Na,0, ZnO, CO,, ALO,, H,0

Aneorganic compound having its name suffixed with ‘ene’ and having

... two carbon atoms in the molecule. With the help of a balanced

- chemical equation indicates what happens when it is heated with

excess of conc. H,SO,. What will happen when the product formed
is allowed to react with water ?

[Page60of 7]

34.

35.

36.

37.

38.

39.

40.

@f5 15 GO AT O ‘B WZ AR 9 4TS 46 P w42
g | @ AalfbTE Sfefe v H,SO, 7etais $eg e & xfor o
ATOE FRFACR AR 1 1 8 (i et fReeret wacet & Seom
TI?)

Prove that acetylene is slightly acidic in nature.

(B RET S ol witg Tt o 331 T ?)

Three elements A, B and C have atomic number (Z-1), Z and (Z+1)
respectively. B is an inert gas. Among A aid C which one is metal
and which one nonmetal ? Explain.

(A, B @3 C G ARINRE HY IAWFW (Z-1), Z @R (Z+1) 1
OER W B GNETis @i g st | A €% C @3 314 TIII0 419 8
R S N 1)

NaOH is a base but CIOH is an acid. Explain.
(NaOH = % CIOH SifFe - it 4 1)

Why pi(r) bond is weaker than sigma (o) bond ?
(2 () TEA, B (o) T AT A = (T ?)

Although sulphur and oxygen lie in same group in periodic table but
oxygen is a gas but sulphur is solid. Give reason.

 (sieffm ARfiTe SRITEH € AT @58 AT TR FAETS HHEH

G797 8 e 3o I ol - R | A1)

Distilled water is pure but not suitable for drinking. Explain.
(AIfoe T g S AN FAR ATF ToYS 7 (A ?)

Why nitric acid is more acidic than nitrous acid ?

(ARG SoifTs, FEGE SIfFe e Wi S & 2)
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